HSSC CET Group D Answer Key 22 Oct 2023 Morning Shift

1. a&warqﬁmq@aﬁmmaﬁﬁ'ﬂﬂﬂﬂf_@ﬁa I-
Y A &1 ador BT wener oy faen o S
a1 Fmoar &7
(1) warar & ferema
(2) 19 H wHEA
THT 1 G ﬁwf;. -
(4) w131 & TaTEaH
(5) I T T a@mEd
2. Preafafam ¥ 1 o0t II & gaferd = - =
I 9
T HT A YTEA AT
A. ‘Elj'lﬂ——-...“,_h_“ . ggrg ==l
B. &hga T 1. s
C. @ 1. g (@)
D. el — T —=IV. &I

(1) A-III, B-1, C-II, D-IV

(2) A-III, B-I, C-1V, D-II

(3) A-IIL, B-II, C-IV, D-1 Py - D
11, B-1, C-I1I, D-IV

(5) ST 78l < e

3. WA WA T R say 3

gafea &t
-] wor-11
A. wre-Tfy . =™
B. g II. 3gfm
C. T%q [l sERaiiE ora
D. SrAE™ V. oHmEed
qel fqgey g

\ Ly A1V, B-I, C-I1I, D-II

(2) A-IV. B-I. C-I1, D-III "
(3) A-I, B-IV, C-III, D-II APFSRR
(4) A-IV. B-III, C-1, D-II

(5) AT Gl <A1 qIEA

4. T F S B ol T A v e F -

X)) g
(2) ®erd
(3) e Are. D

\ _(4)pars
(5) SOX EY 1 ared

Mirror changes the dircction of light that falls
on it. This change of direction of light by a
mirror 1s called?

(1) Displacement of light

(2) Scattering of light

(3) Reflection of light

(4) ‘Reversion of light
(5) Not attempted

Match the following I and II :

| I1
Name of the Organ of
Organism Respiration
A. Human being I.  Trachea
B. Earthworm II. Lungs
C. Insects [11. Gills
D. Fish IV. Skin
(1) A-IIl, B-1, C-II. D-1V

(2) A-IIL. B-1. C-IV, D-II
(3) A-lIl. B-II. C-1V, D-I
(4) A-ll. B-1. C-III, D-IV

" (5) Not attempted

Match the 1itemis 1in column-I with those n

column-II :
Celumn-I| Column-Il

A. Salivany gland 1. Bile juice

B. Stomach -7 Insulin

C. Liver . /}lH Hydrochloric Acid
D. Pancreas a l.\.’. Amylase

Choose the correct option :

_{1) A-1V. B:l, C-III, D-II

(2) A-IV. B-1. C-II, D-III
(3) A-l, B-1V, C-lI, D-II
(4) A-lV, B-11I, C-I, D-II
(5) Not attempted

The process of loosening and turning of the
soil 1s called —

(1) sowing

(2) harvesting

(3) winnowing

(4) tilling

(5) Not attempted
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pasteurisation of milk 1s

(1) Heating of milk to about 70°C for aboul
30 seconds and then slowly cooling 1
and storing. |

(2) Boiling of milk and then slowly cooling
it and storing.

(3) Heating of milk to about 70°C ftor ﬂhm}l
30 seconds and then suddenly chilling 1t

and storing. i
(1) Boiling of milk "aind then suddenly

N

chilling it. -
(5) Not attempted 5

o
-

; 1
AT AR [ | 6. Which of the ﬁallnwipg food items gIves
g mﬁ . 'Jj '{?T’:[ - blue-black colour with iodine ?

il & ’ ' (1) Starch

W ¢33 Ninerals
(2) @ a1 y@w\ﬂ), }q (3) Protein

(3) WreI - (4) [t
(4) qur : (5) Not attempted

7. Iyphoid is caused by =
(1) Ba wna |

\/(Hﬁ iy 42) Vinus
| Tﬂ f (3) Prowzoa
(2) &Fﬁﬂ‘ﬂ M : P\ (+) Fung

(3) Wisnan (3) Not attempted

(4) Taa & o g

(5) AT e - grea s 8. Condensation is the process of —

— . (1) Evaporation of petrol

8. Prafofed ¥ @ a-W §ITHR - (2) Separation of sand from water by

(1) 92w @1 qreiidI decantation (-

(2) = W o arg 3iel] ok (3) Conversion of water vapour into its liquid
\_B) Wimamm & ga F afradd form o

) | B ATy ¥ qftad™ M C (4) Conversion of water, Into ItS vapour
(5) Twr 8 2= 9Ed i (5) Not attempted r.'.’“,:

9 fﬁﬂﬁ fpar ST E? 9, Large scale storage ufr grains is done in :

£ AT @l WS _ :
| . (1) Silos and granaries..
\tﬁ”%ﬂ/;( w H < (2) Jute bags [~
) T & A H A =y 5 (3) Jute bags and metallic bins
(3) 2 % <y & X U9 a (4) Metallic bins

(4) wrg & &= gl o P\"E | ﬂ (5) Not attempted
(5) T =8 =1 ared

KSHR / X3 /Page 3

fwm w9 / SPACE FOR ROUGH WORK P.T.0.

G Scanned with OKEN Scanner



10. Fr=fafaa @y gafra &
w1 w1l
AT FH AW Tl
A. b [. O
B w}él EREll

: W&ﬁ>_<‘:ﬂ. el
. g V. . 398H1
) A-Il, B-III, C-I. D-1V
(2) A-III, B-II, C-1V. D-I
\c‘fﬁ’) -1, B-1. C=IV. D-III ﬁw:- C
(4) A-l, B-1V. C-III. D-II

(5) ITT FE 2T e

1>

11, M o1 3 agd ek O @ agel @ genr d
T i & B
(1) &1
(2) gq1+9
(3) B .
@) wm s 1D
(5) 39T 7 <91 "y
12. 999 @ G Sl & =geAa wWead gl
T &7
(1)-50 &+
(2) 30 &

g -
25 g
(5) ITT 8 <51 4red
13. ] UEL geesig § S
g1 & &1
(2) 99 & HHN B @UT BT ad &
(3) @S wad B GWUT HL A B
(4) e @ & A E Py -
(5) ST =& 31 9red

14. frafifaa # @ @-—ar amafes &7
(1) sremred
Q)g(ﬁﬂﬂsw
>

) Sy e
(5) SuC 7Ef &1 wed

15. e Prefifaa & 9 Read eifaas @) 919
q{d gAY uitear &7
Pns - %

A

Prvis- C

(1) =1
Mﬁ%’ﬁfﬁw‘f
(3) @i

(4) drar

(5) saT &) =1 "Ed
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10.

11.

12.

13.

14.

1S.

6 &1 & fiTT @M / space Fon ROUGH WORK

Maitch the following :
Column-I
Name of the

Ammal

Snake I:
IFish 1.
Bird [11.
. Cow V.
(1) A-Il. B-111, C-1, D-IV
(2) A-IIL B-I1, C-1V, D-1
(3) A-IL B-I, C-I1V. D-III
(4) A-l, B-1V. C-llI, D-II
(5) Not attempted

Dark coloured objects absorb
than the light coloured objects

(1) less

(2) equal

(3) very much less
(4) more

(5) Not attempted

The minimum distance required by a normal
human eye to sec the objects clearly -
1) 50 cm

(2) 30 cm

(3) 40 cm

(4) 25 cm

(5) Not attempted

Pathogens are microbes which :
(B Cause diseases

(2) Spoil leather goods

(3) Spoil standing crops

(4) Spoil food

(5) Not attempted

Which of the following is an antibiotic?
(by"Alcohol

(2) Sulphuric acid

(3) Erythromycin

(4) Sodium carbonate

(5) Not attempted

Column-I1
Movement

Swim
Slither
‘Walk
Fly

CNE >

heat

Anodising is a process of forming a thick
oxide layer of :

(1) Silver

(2) Aluminium

(3) Gold

(4) Copper

(5) Not attempted

P10,
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of canals arc therc

gfarn B W & ST HA T 16. How many total number

L T ' under 'The Bhakra System' in FHaryana?
(1) 472 T8 (1) 472 Canals
@) 528 T (2) 528 Canals
; l 2 Canals
52 T8 D (3) 452
\j:;’iﬁ THL W” (4) 521 Canals
2 (5) Not attempted
(5) 30 CE| 241 TEd | I
1 : d?
=T 5 erafh 17. Where is IIIT. Haryana locate
I maﬂéﬁqﬁm B s ¢1) Sonipat
‘\/“H/ " (2) Kamal
(2) (3) Kurukshetra

3) Gl M : p‘ (4) Ilissar

(5) Not attempted

{ { as the first
18. Who amongst the follow llz:g was tl
Chief Minister of Haryana:

/8. prefrfiaa & 9 e A % wu geh A7 (1) Bansi Lal

(1) d4fl s (2) Bhagwal Dayal Sharma
frerd gare 47 (% (3) Rao Birender Singh
PN\%' (4) Banarsi Das Gupta

(3) 1 fats Rie ‘ !
(4) CEIECIICISIASL (5) Not attempte
i R 19. Fatehabad. is home to two very important

monuments. One 1S The Lat: which is the

other one?
(1) Humayun Mosque

(1) m (2) Dharamkshetra
(2) ud PW\% : C (3) Banawali

(4) Arjuna Sthal
(4) Gﬁ\h Qe (5) Not attempted
(5) e W€} A ArEd

20. How many (appmximately) Community
Development Blocks does Haryana State

zﬂ-sﬂmwﬂmﬁ%aﬁ(mﬂ)mww

K have?
T%? (1) 90— 110
) 90 - 110 (2) 110 =130
(2) 110 - 130 M C/ (3) 130-140
\_3¥T130 - 140 (4) 80—90
(4) 80-90 (5) Not attempted
5 5 Tga
©) ST 2 o %5 o 217 / SPACE FOR ROUGH WORK P.T.O.
..{-q;
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21. Fr=fafaa was or faamre @if 21. Consider the following statements
A. Eﬁ'ﬂlT&Tr ¥ 8 werafis wurT & A. TherF'T: are 8 Administrative Divisions in
B. dager s ¥ worafie wanit ¥ & Haryana.
UF Fl B. Pﬂnﬂ[;lk"illa is one of the Administrative
g e e &) ¥ F By e &7 Divisions of Haryana.
(1) B &aa ' Which ofjthe above statements is/are correct?
A(2) A 3T B 2=y (1) B only.-
Byt A ol T @ B MC’ (2) Both(A-and B
(4) A Faa (3) Neither A nor B
(5) 3o T8 & = (4) A only
(5) Not ﬁtfﬁmpted
"-__.-=*
22. ar@mﬁaﬁﬁmﬁrﬁmﬁﬁﬁmﬂamuﬁmaﬁ =,

22. Charkhi Dadn does not share border with

GG
(1) wt=r% which nnc of the following?
(2) 'E{WT‘( C (1) Mahendragarh
W M (2) Jhajjar-
(4 Prary (i) gliS_ﬁr |
(5) IATLTEN 97 TmEd (4) Bhiwani
&5 (5) Not :}ttl‘emptﬂd
23. &ZION BT G FGT &7 =
(,]j fﬁEFF‘e’lﬂ'l' 23. Which iscthe state flower of Haryana?
’ ;- 1) Dahlia™
@) gferg_ (1) | .
us:r;ﬁ% W*C 2) TuIip“‘
(45 LA | 3) Lutur«f
4) Marlgnld

(5) Not attempted

24. wfwmom i'r w:m RELR:EUE R
il R o & 24. In which E?ﬂr was the Pradhan Mantri Mudra

gy O
Yojana Iaunched in Haryana?
/2; gsﬁ‘?ﬁw—&m;gn (H 8th Apnl 2018
B 1054, 2011 (yya. A (2) 25t February, 2017
\/W’B/eg:’ 2015 ’ | - (3) 10t March, 2011
(5) waT 9& T weq (4) 8th Alpril, 2015
\) ' (5) Not attempted
25. A& @1 T § P | xe
ﬂF’i‘r':‘i%f 25. Tomb ofdbrahim Lodi is located at :
(2) Huw ‘ (1) Pampﬁﬂ
(3) woore M F} 5 (2) Kﬂltﬂﬂl\‘
(4) ferarh 3) Jhajjar
(5) ST E ¥ " (4) ma[anl
(5) Not attempted
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Match List-l Tourist Centres with List-1I their

M‘;‘ﬁ 5 7 T / SPACE FOR ROUGH WORK

. -] e W T A o e P | 26, Ml
BT | location. .
g1 N1 List-] . I hlﬁ(tl-alll
2 A. Sky Lar . Ho
A I ﬁ-ﬁs—--—wL LAY 3. Damdama [[. Gurgaon
p. mr .y .. Jea C. Dabchick (1. Uchana
C. =@a® k L. sarn D, Karna Lake [V. Panipat _
D. @l g ¥ Q;Pr RIBING Chuusﬁ'té the correct answer from the options
M ferepeal H FAC BT YT DT . riven below
uﬂ%\a B-Il. C-1, D-1II [ — (1) A-1V, B-II, C-I, D-III
“2) AL BAIL C-IV. DL oy g; Al B-111 C-IV, DI
3) AL B-1. C-IL. D=1V W 3} Adll Bl S
E‘” A-l. %}Iéq?_]”” e Esl; Iﬁ;j; zﬁtf{'.{;‘l;‘{egla >
(5) ST wTed e |
27. Consider the following statenients 1n respect
)7, TP GEn ME (YT T i) B stefer ¥ Prerfirfea of the National Security Guards (NSGQ) _
et qx RrErg WY S A. It is one of the Central ,Armed Police
A gE UH HAG Gy gied @u ¥ 1 Forces. . ]
HI G i B It comes under the administrative contro
B. & H%;TH & &Il ’??Tﬂﬁ R CIIRED O inistry of Defence, Government
_ LTS of India.
Sqda F q B G BhUA ey BE 7 Which of the above statements is/are correct?
1 B 1) B onl
=, Cairc B &l {W’“ ’B Ezg Bmhiandﬂ —
3) 7 A st T & B awk (3) Neither A nor B
(4) ®ad A E (4) A only <
i _ ' R '
P ? 28. What is the approximately population of
28. Ef@mm @l $He WTW et Haryana? !
7700,00,000 — 3,00,00,000 (1) 2.00,00,000 — 3,00,00,000
(2) 3,00,00,000 — 3,20,00,000 (2) 3,00,00,000 — 3,20,00,000
(3) 3.20,00,000 — 3,50,00,000 M{) (3) 3,20,00,000 — 3,50,00,000
(4y 1,50,00,000 — 2 00,00,000, (4) 1,50,00,000 — 2,00,00,000
(5) wwy FEl & . (5) Not attempted 0o
29. ‘efaron @1 AqYS > wq A féi@im SraT & 7 | 29, ghich 1!‘1:.? known as the “Cil_iérrapunji of
: aryana ¢« 35y
(1) wraer L . (1) Kosli |
L@J ) L'}"r‘& | % EE% Chhachhrauli
(3) Tare [ 3) Rewari
(4) uria (4) Thanesar {
(5) war @& &= AEd (5) Not attempted
{I k|
5. _a_ w3
30. quiprg w5 e fee ghamm E%J Rt ford 30. The ancient Fort of Madhogarh is located in
R & 7 a4 which district of Haryana?
(1) feare oy (1) Hisar _
2) - C/ [t~ (2) Jhajjar 5
- (m : ¢ (3) Mahendragarh a
' il [ [fr (4) Sirsa ¢
(4) farar (5) Not attempted [~

g 2
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31. wwd (99 e Sae (@ @) & an d
ﬁﬁ%@amaﬁwfﬁaﬂm
A. wfamm &1 o ug é’rﬁ}ﬁmawﬂnﬂé’rﬁ!

q atftres )
B. s & s oy &) & soods ¥ o T @
A aifus
rmﬁaﬁﬁ‘ﬁaﬁﬂwﬁmuﬁaﬂ%l%’?
(l)%h—cm
() A Gfl'(aﬂ!{ﬂ?g
(3) 4 T8 B
A M®
(5) woT WY 1 wEd
} 32. qﬂhmm&maanwdﬂﬂ?lf&wﬁmaﬁ
5 TﬂTﬂ?IT %H%rmurzﬁﬂrwnmﬁqm
! fopar &7
a‘h u’f‘fé‘c‘i’rm
(2) ENEETIG
(3) ey v - D
g9 @\ 9+
(5) IGT F1E < =wA
33. fr=fafaa st ar faar @ik
A. =Y wfegon voa & e v ¥
B. gd 2010 & dwiel @ sfamn @ ey
W97 &1 g9l we™ fedr |
aqﬂaa HU H T BT G/ g o7
(l)‘aﬁﬁB
(2) A 3t B gl
Byadr AT &B
had A
5) ST ol <A1 9Ed
34. gd e fedet 9w geanT @i ke s
Hel g &7
(1) dazar S b
u(gg*ﬂﬁ? (s K
(4) wiEmErg
(5) S| 9El &A1 ard
35, fjﬂﬁ%—ﬂ%ﬂﬁanﬁ‘aﬁmﬂnwmﬁﬁ
Y.
(1) =féqor
Low, B
(4) saX
(5) waY 7e & Ared
IKSHR / X3 / Page 8
h'.ll
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32.

33.

34.

3S.

6 14 & T W / SPACE FOR ROUGH WORK

Consider the following statements about

Gross Stale Domestic Product (GSDP)

A. GSDP of FHaryana is more than that of
Bihar.

B. GSDP of Haryana 1s more than that of
Uttarakhand.

Which of the above statements is/are correct?

(1) 13 only

(2) Both A and B

(3) Neither A nor B

(4) A only

(5) Not attempted

For recognizing the efforts towards
environment conservation and promotion,
Government of laryana has introduced the
award in the name of :

(1) Shri Chaudhary Devi Lal

(2) Shri Bhajan Lal

(3) Pandit Jasraj

(4) Shri Darshan Lal Jain

(5) Not attempted

Consider the following statements :

A. Hindi is the official language of
Haryana.

B. Punjabi has been accorded the status of
an official language of Haryana in the
year 2010. ,

Which of the above statements is/are correct?

(1) B only

(2) Both A and B

(3) Neither A nor B

(4) A only

(5) Not attempted

Where is former Indian Test Cricketer
Virender Sehwag's Cricket Academy located?

(1) Panchkula

(2) Jhajjar

(3) Gurugram

(4) Faridabad

(5) Not attempted

Haryana does not surround Delhi on
which side?

(1) South

(2) East

(3) West

(4) North

(5) Not attempted

PUTO:
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eyt werl o feam @

A. EE@rm § urd g sngERiay ¥
B. HUIER ¥ gferd enigaam@a fleag 3
Wﬁﬁﬁm{ﬁaﬁmgﬁ%?

A ot B 30 |
(3) 7 A 3T E B @W\%
(4)A%frcm

(SJW:ré’f%ﬂTam?f

37.

33.@@6(%3‘?1%@13%?

OREELE
\ P T e B
(3) fEa
(4) fyran
(5) ST &l < qred

3, m@a@ﬁﬁsmﬁ%ﬁﬁﬁﬁa@%?
(1) Promars
\Mﬁf M (%
- (3) 4l e

(4) gapar

(5) STT & 21, 9red
W g3 §eft @@ & qr R O a1dl % 7

(1) emggor
2) wt

om

(5) wwx =&} 2= 9red

KSHR /X3 / Page 9

36.

39.

40.

— 74 % forq @ / SPACE FOR ROUGH WORK
Th

Which of the following 1s NOT a part of the

traditional attirc for men in Haryana?
(1) Kamri

(2) Dohar

(3) Sopali

(4) Sala

(5) Not attempted

Consider the following stutemcn}ts :
A. Therc are five Police Commissionerates

in Haryana. o t
B. Jfaridabad has a Police Commissionerate

located there.
Which of the above st
(1) B only
(2) Both A and B
(3) Neither A nor B

(4) A only

atemenls 1s/are correct?

(5) Not attempted

Where is Brabhma Sarovar located?
(1) Fatehabad

(2) Kurukshetra

(3) Hissar

(4) Sirsa

(5) Not attempted

Fomous sportsperson Yogeshwar Dutt 18
associated with which sport?

(1) Shooting

(2) Wrestling

(3) Javeline Throw

(4) Boxing

(5) Not attempted

In the dance form 'Loor', the word Loor
means?

(1) Ornament

(2) Music

(3) Crop

4) Girl

(5) Not attempted

P.T.O.

(} Scanned with OKEN Scanner



x> 41. TI ' '

S— 0% % @ BRI T3 % ged Udhd 1€ Slflgle discount equivalent o twy
o Suceessive discounts of 20% and 10% i .
ol (1) 25% |
71-28% Yo 2) 28% :

3% O P % ® 2%
M) 30% ; 4 v
Lo
(5) T T é:?'g“ﬁ ) Not attémpreg
) (J
e 42. TI w
- i H@JTG?I A. B. C @R D %1 aitaq + A€ average of four consecutive numbers A
I BG?IT D & TR 741 2o B, C and D;;ié 49.5. What is the product n;
= Band D7 '
() 2450 e
S (1) 2450
o 2) 2352
(3) 2550 . D (
Lors @ OB o
& e
_ - (4) 2499
33 (5) Not attéﬁpted
T
! [h.‘-
43. 8000 A whn'3% it TRy v @ |

43. In how many years wi] a sum of ¥ 8000

T 6 autf & X 9261 7 Wuh, wafy =

A e ey d 7 at 5% per d_l_}pum compound interest,
i (':_, cnmpullndeggépnltally becomes T 92619
et y3 oy
LI [
2 [T~
I . @) 42
i W . C/ 3
\ o5~
3) & L
R ®s o
" H
) 35 ) 1 o
3 L5 (4) 3'5 [:
(3) Tat & 3;;:' ETE»% ]
| l (5) Not ﬂttéﬁi'plcd

IKSHR / X3
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4. 59 g8 Bl e, W) 12. 15 ot 18 & 44. The smallest 5-digit number which is exactly

pryifaa &, &
(1) 10,015

(2) 10,020
(3,470,080

(4) 10,010

(5) TTT TE <A1 AR

45. 2\2 ><:33:~"55, 23x3?><f_52x7 afrt

i -._'_...-.

24x34x5x72x11 &1 HCF %
(1) 22x32x5x7x11
@) 2*x3%x5°

(3) 24 %34 % 57 x Tx11

mxfizxs PW‘D(D

(5) soT & 7 AEd

46. 79.30 wfy Reedum A AE B fd o AR
% N A 8:7 F orgurd A frarar wan ark Fa
&1 g T 10 widy fometnm %, d q@ T & g
& T wia fedmm T &7

(1) % 10.60
\_277 10.80 PWW(B

(3) 7 11.00
@y 7 10.30
(5) TmT & 31 =@wed

IKSHR / X3 / Page 11

45,

46.

< ®1d & [T ¥ / SPACE FOR ROUGH WORK

divisible by 12, 15 and 18 1s :
(1) 10.015

(2) 10,020

(3) 10,080

(4) 10,010

(5) Not attempted

The HCF of 22x33:~:55, 23:~<32x52x7
and, 3V % 572 %11, iis

(1) 2%x3%x5x7x11

(2)
(3)

(+) 2

(5) Not attempted

Wheat at ¥ 9.30 per kg is mixed with another
quality of wheat in the ratio 8:7. If the
mixture so formed be worth ¥ 10 per kg,
what is the rate per kg of the second quality
of wheat?

(1) T 10.60
(2) 2 10.80
(3) 2 11.00
(4) T 10.30

(5) Not attempted

P.T.O.
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47. a: b F TAF U ¥ TR oy aen den g 47 The number that must be added to each term
of a : b so as to get the ratio ¢ : d, is :

AU ¢ : d uTs B, ¥

ac + bd
(1)

48. R TRt @ 3:5 % orgwa ¥ feafr fopar T 48

afk gt W 2 75 %, & Wi
(1) T 130
(2) 2 1515"‘-
A0, D
Mzo-

(5) TOT &I <A1 Gred

19. A% 0<Fcl ¥ APEAI AT 49,

2pc2) i S the following is :
- (2)
(2) . y
\,«/ 2 M | 5y -
' P .5 @) 2
4) x , 4 (4) x
(5) ¢! & A (5) Not attempted
IKSHR / X3 / Page 12 % &1d % g Wie / SPACE FOR ROUGH WORK

, ac + bd
(1) c+a

ad + be

(2) c+d

ad — bc

) ¢c—-d

ab—cd

@

(5) Not attempted

A certain sum i1s divided in the ratio 3:5.
If the greater part is ¥ 75, then the sum is:

(1) T 130
2) T 150
(3) T 240
(4) Z 120

(5) Not attempted

If 0 <x <1, then the gréatest ‘numher among
RE

a0

]

r
et
Sl

b,

r 5
faa
i-

I -!l
{‘h

-
L

PT.0.
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: 1
50. A TF FE H 3 HmS [ ¥ ®T §%ar & 50. A can complete — of a work in 5 days and

% m(‘b

51.

'w*)/snu

5 2
waf® B IE B 5.0 10 Re & =

m@AHmBaﬁﬁmmmm@
ﬁmﬁﬁqﬁ‘{ﬂmm%?

(1) 8%

o r

._.-Ir
_......._.*_.-

(3) 10

|
7—
@ 135

(5) IWT T A1 aAwEd

@ W ATH, A WED, B A @ g
65 fft &, & drg 9o ¥ 2.692 10 Bz @mn
b T TRy et Ry B

(2) 600

(3) 700 -

(4) 200 20
T

(5) T & M AR
-

S2. Aqur B wwer T 85,000 dar T 15,000 7w
F @M S fean) T ad & @, P A
58 orurd & g @ &Tgn S
(1) 3:5 -

(2) 15:3 € :J‘
173 YW
e
(4) 3:4
(3) et 8 2 wmew
KSHR /X3 / Page 13

S1.

< 7 % f @1 / SPAGE FOR ROUGH WORK

3

'5 of .'thr: same work In

10 days. In how many days both A and B
together can complete the work?

B can complete

4
8—
(1) 8-

3
@ 9%

(3) 10

1
4y T—
“ 73
(5) Not attempted 5
&
A motorist travelled between two towns,

which are 65 km apart, in: 2 hours 10 minutes.
The speed in meters per“_r{pmute IS:

(1) 500
2) 600
3) 700
(4) 200
(5) Not attempted o~

. A and B started a busmess by invcsting

% 85,000 and T 15,000 respecnvely In what
ratio, out of the fﬂllnmﬁg, their profits will
be divided after one year?

(1) 3:5 O
2) 15:3 -
3) 17:3 lT \
(4) 3:4

(5) Not attempted

P.T.O.
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1 2 x + : - %J-E =7
X . L = 53. 2
53 x—lﬁxfl-bl—-—xz ? x—1 x+1 1—x
i 1) 2
(1) 2 o L k’%««a{} (1)
ok b ! 1- @3
. 34 " A (3) 4
\/(”6 T jf_;/‘(h A 4) 1
(5) SaT 7EN S wed e } (5) Not attempted
(v )
54. 18 QM }FITEITE?TII:B ﬁq,g}agaﬁq q-.-;ﬁ q, §é’pﬂ 54. How many cubes of edge 3 cm can be cut
il ey FEay u9 @12 o g6d &7 out of a solid wooden cube of edge 18 cm?
\/«ﬁls (1) 216
a6 Y {,\ 2) 6
(3) 218 | (3) 218
(4) 36 (4) 36
(5) STT & 3971 TR (5) Not attempted
55. @t \/-3. =1.732 @ /2 =1.414 & 55. If \@ =1.732 and ﬁ=1_414, then
D i
J3 42 ' A N is equal to
(1) 0.308 P}ng "B (1) 0308
Loy tiags (2) 0.318
(3) 2.146
(3) 2.146
(4) 0.064
(4) 0.064
(5) st 78 241 =y
(5) Not attempted
IKSHR / X3 / Page 14 :
e s g SPACE FOR ROUGH WORK p.T0
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56

57. dra ol sl % UYE @) ermrafion wh & R

LT3, 6,

38,

\_e

. afe A+ B ad ®, A B @ a3
A - B ad 2, 'A. B® ofa &y
A>xBarad 2 'A.BS faar &y
ﬁjII’KQ+R-—S;ﬂ'5j~3’[Ef%:

@ Q.S & ufq & -
@) S, P& g &

STt el & wraftua @ ur um eyt g
a |

TO ARHU

| 234 56
I, 4, 5.2
2) 3.6,1,5.2. 4
(3) 2, 4, :‘5.].3. 6
@A 2 1.6.3: 5

(5) T T T e

Pys, - P

30 faww @ g diftig, o Al 9T § S
VT v 3, Ry q@Q WS, 96 92 8
wahg ¥ -

ey : forgen @ ; wrast -7
@) @ =3 M'ﬁ
(3) &
(4) e
(5) S T 2 =R

56. If A + B means 'A is brother of B

A — B means ‘A is the husband of B'.
A x B means. ‘A is the father of B,
Then P x Q + R:=S means :

(1) Q is the h-usl:;ﬁzd of S

(2) S is the u'iﬁ:j Pf P

(3) P is the fatht:!r Tr_tf S

(4) P is the fatherim-law of S

X

(5) Not attf.'*rm:mt».f."é:l_-:~

o

S7. A set of English detters is given below in o

jumbled order. Select the combination of

numbers so that the letters arranged
accordingly will tonm a meaningful word.

AR ITU
1 576
(0.5 6 1.4, 5.0
(2) 3.6, 1.3, 2
(33 2, 9. 5. 1.
(), 2. ) 6, 3;

1 0O

P 2 3

- |
1J

:'J

Wn o &

wd

= Fee)
(3) Not attempie

pred,

O

i

. Choose the opuon: which is related to the

third term in the-same way as the second
term Is related to the first :

Pen : Write » Spade : 7

A
|

(1) Dig 2
(2) Cut SN

{‘\"\4
(3) Guard )
(4) Crush S

(5) Not attempted

WWw.mseducationtv.com
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59.

60. 3 Het ol T A1 A Pread 1 o 11 B g OV
&1 T A B Fw TR 3w A F we:
marﬁrﬁﬁaﬁmﬁﬁmﬁ%ﬁ.ﬁvﬁﬂﬁ
fasa?ramfﬁﬁmiﬁqwqmmﬁ%wmwr
ThETT T H Prawar &Py @

FYA : H‘ﬂ"ﬁ'{ﬁ‘ﬁﬂ%l

e

(1) B vdq TRt )
Mﬁmﬁ%&illﬁaﬁm%l
(2) Mg 1 of 11 & fraery 3
(B?{?ﬁf*f@ﬁﬁlﬁﬂ"ﬁrallﬁm%l
4y Faw Prand 1 Rrasear 3 .
(3) 3T T8 I Ty {M-ﬂ

[§€ 61 ST T & AR, a0 uw @t

2 %@ﬂﬁgﬁmmlm&ﬁwmw%m o

—

K

-1 SN wh B g o Ran ¥ ez
| \{ R
! (2) ufdyey
—]"’Qbf‘ O) vt g . 4
L (4) Ty

(5) S =& ¥ wey

0
6:2 3 62. %ﬁﬂmﬁmmﬁmm;

Choosec the odd one out :

(1) Quintal

(2) Kilometer
(3) Kilogram

(4) Gram

(5) Not attempted

Iwo statements are given, followed by two
conclusions I and II. Assuming the statements
to be true even if they seem to be at variance
[rom the commonly known facts. decide
»:«hiuh of the conclusions logically follow(s)
Irom the given statements

Statements :  All rivers are mountains.

All oceans are mountains.
(I) Some rivers are oceans.

(I) Some mountains are
rivers.

(1) Only conclusion I follows.
(2) Both conclusion I and [T follow.
(3) Neither conclusion I nor IT follows

(4) Only conclusion I follows.
(S) Not attempted

Conclusions :

Early in the morning after

was standing facing a pole.
th:E pole fell exactly to
direction was he facin

(1) East

(2) West

(3) North-West
(4) South

(5) Not attem pted

Sllnrise, Sunn}'
The shadow of

g%un“}' s right. Which

143. 149, 158, 170, 203 62. Find the missing Number ;
> 143, 149, 158, 170 " the serieg

(3) 192 W - (2) 190
(4) 182 (3) 192

" (5) SO TE | ey (4) 182

,-"U"‘t'ﬁi (5) Not altempted

« LA IKSHR / X3/ Page 16 T

e U | o R e SPACE FOR ROUGH woRK

S AAS (Wl . e, FS ("1 0 X 0 P.T.O.

l‘-‘? i 54:

"11—-"({ 5‘ |

59 P3v¥

S o 2

G Scanned with OKEN Scanner



63. e ot & 71 o ey Ry o an, o o ad
& ST Wl w1 aifw fem wm ar?

\ by T

proves o B
(3) TEEr

(4) 7oK

(5) AT &l 241 Treq

64. BF AR X, Y, Z, M, N st O et &t ot Je
a0 0@ dfdT ¥ &3 ¥, AfT sasas 7 &

ol wH A B2, X' ot 'N' & 9 # dor 1
M R 9T T LY, N % e et B
0' 7 Pem T T F1 M ® oS B 87 |
() 23R Y
\/@y/om X
(3) O 3T N
(4) X 3k N

(5) ST FEl 21 9red

P B

65. afz wF gz wrar & 'VIETNAM' &1 §2
'WKFVOCN' 2, 4t sdt g w1 4 'BRITAIN'
B fow war fran smAm ?

(1) CTIWCIP
s 1

e
‘V/(%) CTIJVBKO

3) CTIUCIP
4) CTIWBKO

) v & 21 e

63. The fourth day of March in a year was

64.

65.

Thursday, what was the last day ol the next

month in that year?
(1) Iriday
(2) Saturday

(3) Sunday
(4) Thursday

(5) Not attempted

Six persons X, Y, Z, M, N and O are sitting
in a row facing towards North but not
necessarily in the same order. 'Z' is sitting
between X' and 'N'. 'M' is not at the end. 'Y’
is sitting immediate right to 'N'. 'O’ i1s not at
the right end. Who are the neighbours of M?

(1) Zand Y
(2) O and X
(3) Oand N
(4) X and N
(5) Not attempted

If in a code langnage 'VIETNAM' 1s coded
as "WKFVOCN/', then how will 'BRITAIN'

be written in the same code?
(1) CTIWCIP

(2) CTJVBKO

(3) CTJUCIP

(4) CTJIWBKO

(5) Not attempted
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66. ‘T + T F AT A q arn qAlaD SHYH
wE E -
(1) peaITEd
(2) FHameTE

(3) P Pﬂ/% ) ’_\)
\ D FamE

(5) v w8 2y wEy

|
v

67. 'HYFY’ wHW ug w1 shi fow ¥ -

(1) fafrar gou

(2) HET gou -

(3) ® gou P‘VD h D
(g

CS)Wﬂﬁ%ﬂTmﬁ

68. Pﬁ@wﬁa‘ﬂwﬁﬁxﬂqﬁl@rmmm
el g E 7 "

(l)ﬂéﬁﬂ%aﬂmm 'é’mﬁwaﬁrﬁrm
|

\,ﬁ)@%w ﬁmtﬁﬂﬁm'
(3)@%%%%%‘5

) g Pow T A WA @
6) o A (B

(2) &g 5 &= 2T f;‘ |

(3) & &Y HETL - {A\ﬁ% ’Pf |
(4) #zm Bis@T tnﬂmﬁﬂif

(5) Tt =Y = aeq

70. ‘fmc mmmﬁhmmrgaamﬁmﬂ’r ME T —

L
(2) atgT -
(3) sifdrex M ﬁ

(4) =raaeT |
(5) s El &1 Qwd

IKSHR / X3 / Page 18

¥
"_'."a..ll

71.

T2.

73.

4.

TS

(S)amwﬁr%mmi

W' 7 aET TR T T -
(1) =%

(2) WA

(3) w4

(4) ®

(5) STX &N &N EITG'?T

aﬁiﬂfg&ﬁ?ﬁh’mrﬂﬁ & T & 7

(1) &

(2) Eﬂ_ﬂ ‘;:
(3) W
@ge . 5

=

frllga & & aF—n GTjEITEI ST@HIC Bl Uh Ag
Y ?

(1) TamEieRgam lff’;

(2) BHIIE =y

(3) steargamE

(4) gerTgTE -

(5) Tﬁr{ﬂé’r%mma?r[*

TG T ~ LG

(DHTE?IHW?IH%

(2) 79 3fverm & & At

(3) smifw sfem @ Fahe
-

3 QT W I G iy )
N IQ_:: SUEFRT 9Tex &
(2) gifew Ty

(3) i P

(4) whra e

(5) say w18 <=7 Oy

T &1d & fiu w1 / SPACE FOR ROUGH WORK
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BRI
16.

e AT & 7 =
(5) vt T 3wy
1. 1922

HAEH
80, &;qﬂﬂﬂgﬁ ‘f-‘:i:’-‘
v, 1930

(2) A
ﬁ'l ‘-E'i aﬁ.ﬁ;rq | E‘?"H
T Ry ey Ay were T

[’"-h.
() ST yaer
Wi wdreTe et
A T2 Heanre - L 198
B. wfrmy sram arieter 1. 1919
AL Bap o DV
L/g]; AL, B.1y. O-1, D-111 ()Yf) ‘ %
) f{-lli, B-I, €11, D-IV
o) L BI, oy pan
LS O ST

Hh"“"--...

76.

77.

78.

79.

80.

Civil Rights Movement of 1950's put an end
to social discrimination. From where did the

movement begin?
(1) UK. |
(2) FRANCE ~
(3) GERMANY:
() US.A, |-
(5) Not attempted

|
Which country has taken over the

Presidentship of G-20 from India in the year
20237
(1) Canada ~%'
(2) Bangladesh.’
(3) Efﬂ:i] =0
(4) South Africa
(5) Not attempted
r""|
How many functional units are there in
Indira Gandhi National Centre for the
Arts (IGNCA)?

(1) Seven

(2) Nine 0
(3) Three &)
(4) Five .

3
(5) Not attemﬁfgd
Which of the i‘gllﬂwing states 1s known as
‘Sandalwood state of India'?
(1) Karnataka'
(2) Meghalaya
(3) Uttar Pradesh
(4) Chhattisgarh,
(5) Not attempted

-

Match the foll

\_.::.} -
ﬂ\?’l ng 2

List-1 _ List-11
A. Rowlatt S[ityagraha . 1918
B. Civil disobedience II. 1919
movement
C. Mill workers' strike III. 1922
D. Non-cooperation IV. 1930

muvcmcﬁl}j
Choose the correct answer from options
below : Co
(1) A-III, B-ILYC-1, D-1V
2) A-Il, B-1V, C-I, D-III
(3) A-Ill, B-1, C-11, D-1v
4) A-11, B-I, 'C-1V, D-III
(5) Not attempted

WWwWw.mseducationtv.com
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et - A

82. e & foart ¥ ufwn & aw g gad g%
TeTAq drF-ar &7
(1) emefer

BTTERT
(3) ST=<Thied!

(4) g
(5) s9T 7 21 "rEd

s -B

83. T e faemaa (TAuEE)) @1 e e ad

g 7
he B

(1) 1975

\ 42J 1959

(3) 1950
4) 1976
(5) IO &1 291 aEq

84. HYEAT ARG B 79 47 fpar war wia feam)
o FrefoRas & @ few g § e oo & oy ?

Y iy A
(2) HURoT
(3) eTEHTELR M
(4) @s1
(5) 3T Fel <A1 9red

85. ear argHsd fhaq @ o frfra &7

qrd
(2) @ Mﬁ
(3) =
(4) @1
(5) ST &l AT °Ted

IKSHR / X3 / Page 20

B2.

83.

84.

85.

% & & forg @ / space FOR ROUGH WORK

(2) Karnataka
(3) Andhra Pradesh

(4) Kerala
(5) Not attempted

Which is the second largest continent after
Asia in terms of arca?

(1) Australia

(2) Africa

(3) Antarctica

(4) Europe

(5) Not attempted

The National School of Drama (NSD) was
set up in which year?

(1) 1975

(2) 1959

(3) 1950

(4) 1976

(5) Not attempted

Non-cooperation movement was called off
when peasants set fire to a police station in -

(1) Chauri Chaura
(2) Champaran
(3) Ahmedabad
(4) Kheda

(5) Not attempted

Our atmosphere is divided
layers?

(1) Five
(2) Seven
(3) Nine
(4) Eight

Into how many

(3) Not attempted

TO

G Scanned with OKEN Scanner



g6, wrE 6%hT Raend) A wisw feg 2o ¥ R 86.
TSI e dey &9 : o R

2) R

\/S:/aﬂ%m M%
(4) AEESIoT
(5) 3T T 7 gey

§7. Wﬁmﬁmﬂﬂﬁqﬁv%mwﬁw i
e foed &7

(1) 1909
2) 1915

Y 1916 (AL C

(4) 1906
(5) ITT EI <0 ared
88. HETT THY TG AP Yy M3y avfsfam, -
2005 (FTFON) ® YR WER ¥ 99 § ey
A & QST @ M B2
(1) 75 &=
100 fe= ,
(3) 90 R P}vﬂ&%
4) 120 2=
(5) sat 7&l 31 9rEd

89, fhe orfe 7 At 2019 % forg wRa T & BT o0
wiqr ?
\/PZU/EFFET EENﬁ
Q) & U EwiE ﬁ .
(3) . Tﬁ'.@.ﬂm. LB p
(4) SR e @™

l‘famous cricketer Ben Stokes plays
international cricket for which country?

(1) New Zealand
(2) LEngland

(3) Australia

(4) West Indies
(5) Not attempled

In which year did the Congress and the
Muslim league sign the Lucknow pact?

(1) 1909
(2) 1915
(3) 1916
(4) 1906
(5) Not attempted

In Mahatma Gandhi National Rural
Employment Guarantee Act 2005

(MGNREGA), how many days of

employment are guaranteed in a year by
the Indian Government?

(1) 75 Days

(2) 100 Days

(3) 90 Days

(4) 120 Days

(5) Not attempted

Who won the 'Bharat Ratna Award' tor year
20197

(1) Pranab Mukherjee
(2) Dr. Bhupen Hazarika
(3) Prof. C.N.R. Rao
(4) Ustad Bismillah Khan

(5) w48 a1 S (5) Not attempted
n, B - > =5 AT %7 90. zﬂ;’;u;:; Hbi:;d d:-ﬂs not make its own nest?
S an robin
(W LUEE| (2) Koel
\/2 HTw AL < ‘B (3) Tailor bird
(3) LG atzar (4) Weaver bird
Eq) a1 R (5) Not attempted
) TR 2 e
Sk —— % fou @i / SPACE FOR ROUGH WORK
IX3/Pagg 24 <5
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91. Change the following scentence to indirect
specech.
He said, "Nambiar works hard."
(1) He said that Nambiar was working hard.
(2) He said that Nambidr had worked hard.
(3) He said that Nanibiar had been working

hard. L.

(4) He said that Nambiar worked hard.

(5) Not attempted - f“';
| Gt
92. Choose the correctly spelt word :

(1) incradulous
LO) )/)[YVS B

\)24 incredulous
(3) incredulus
i

(4) incradulus
=3

(5) Not attempted
93. Pick out the part uff-j‘tihe sentence which

“has an crror. If there ig-no error, your answer
1S '3, vt

The whole block of flats /

A
including two shops were /
' B .
destroved in the earthguake.

C (3
‘VH’)B/ Ze K - £

2)c )
(3) No error [
(%) A —
(5) .Not attempted [~

94. Choose the alternative which best expresses

the given sentence in Passive Voice.
Must we cut this treé?)
(1) Must this tree wds cut?
\ £27 Must this trece beicut? ’g‘ 5 B
- (3) Must this tree is «cut? ’ e =
(4) Must this tree will-cut? -
(5) Not attempted =
[
95. Find out the synonym of the underlined word

in the following sentence.
Colours, like featurés) follow changes of
(4) moments i

(5) Not attempted [~

emotions. 0
(I) movements ch
sentiments

G
(3) under-current [

96. Replace the underlined word/phrase with an
alterpative 10 make a grammatically correct
sentence. O
"The ladder will be collapse if you push the
wall with both the hands.

(1) will have collapsed
(2) will have been tollapsing
(3) No change v
will collapse [
(5) Not attempted

(g D

1

97. Choose the alternative which best expresses
the meaning of the ktfri:dcrlincd idiom.
Our hockey team sgﬂrnfi the winning goal
at the eleventh hnu[.h
(1) at a crucial timg-.
(2) before an hour .-

at the last minute.

(4) 1n the beginning
(5) Not attempted

e C

98. Fill in the blank ﬁdiﬁ:’cnnect form of verb.
Neither of the two imeén very strong,

A was CA
(2) will be f“
(3) shall be . pr
(4) were S HYS ‘

(5) Not attempted i

99. Arrange the following parts of the sentence
to make a meaningfuil' sentence.
A. to understand &
B. to many people&?
C. threatening andfg'}en impossible
D. grammar appears

(1;%[)(:)4 il
ACB ¥ Ao
\}(g) ADBC | 2
(4) CABD -
(5) Not attempted S:

100.Find out the antonym!of 'democracy'.

(1) republic -
(b

(2) delicacy B

\}}}/munnrchy r:rl

(4) popular
(5) Not attempted

SgE—— S =
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